Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER — 2(CtoD) New — EXAMINATION — Winter-2023

Subject Code: C4300011 Date: 23-01-2024
Subject Name: Basic Chemistry
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:

1.

ou e wWwN

No.

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.

Question Text and Option. Y& A4 (dsey).
1%clark = _ppm

A. 14.3 B. 143
C. 143 D. 0.143
1%clark = _ppm

A. 14.3 B. 143
C. 143 D. 0.143

The chemical bond formed by sharing the pair of electron called.........

A.  lonic bond B. Covalent bond
C.  Hydrogen bond D. Metallic bond
8a521etei] 1190lelRlell RAULdL Wie A ... 5& B.

A W56y B. d&Ulasuiy
C.  sloslusioy D. dlifcasoiy
What is the bond angle between the hybrid orbitals in sp3?
A. 180 B. 120°

C. 109.5° D. 360°

sp3S2 seLSIHI wiuslal Sedl slu 82

A. 180° B. 1200

C. 109.5° D. 360°

Chemical formula of Zeolite is.............. XH,0

A. Nay.Als. B. Na3.Si>.0s.

C. Na,.Al5.Si».Os. D. Naa.
Hlaleloee ABUMBISYA ... XH209.

A. Naz.Als. B. Na2.Si.0s.

C. Na3.Al,.Si».0s. D. Naa.

.......... Is used for Estimation of hardness of water.

A. EDTA B. DDT

C. COOH D. EBT

............... ol GUALdL ULQflel s(8eidl Hiudl Hie Uld 8.
A. EDTA B. DDT

C COOH D. EBT

Destruction or decay of metal by chemical or electrochemical reaction is known as

A. Oxidation B. Reduction
C. Corrosion D. Redox
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AAIU(CLS WYd| [Aeyd AAIU[RLS Ul5UL GIRL HIdetl «lll UlHdleil Wlsdla......
58 8.

A ) [su591¢ B. [R5l

C. &Rkel D. 3slal

The water which does not produce lather with soap readily is called .....water
A.  Soft B. Hard

C. Pure D. Impure

% UIRMl Aleg AL8 dRd §1Q ot AN dal ... uIg] & 8.

A, oY B. 5[&d

C Ry D. 3wy
Monomer of PVCis ........

A. CHgq B. CH2=CH;

C. CHs D.  CHy=CHcl
PVC ol Asisl 149 ...... 8.

A. CHg4 B. CH»=CH3

C. CHs D.  CHy=CHcl
Hardness of Hard water/Saline water is ....... PPM

A. 10 B. 50

C. 100 D. Above 250
s(etuIlefl s(&id L. PPM SR

A. 10 B. 50

C. 100 D. 250 ¢{lay
Chemical formula of methane is

A. CH4 B. CHe

C. CaHs D. CeHs

(el of AAIULBLS YA ......

A. CHgq B. CHs

C. GCiHe D. CeHe
Molecular weight of CaSQuis ........... gm/mole

A. 100 B. 136

C. 95 D. 120

CaSOsail HQIR ...... B.

A. 100 B. 136

C. 95 D. 120

pi bondis ....... than sigma bond

A.  Weaker B. Stronger

C. Equal D. None of These
pi it 2 (42U oY Sl ........ SlY 8.

A (oo B.  Uwo

C. AUl D.  wHI] A5 uBl<ifs
Lubricant is used to reduce the ........ in machine.

A. Friction B. Rate of reaction
C.  Strength D. None of these
&S ol GUANL UR(loteli........ Helsdl Ul 8.

A YR B. usuldal

C.  HAudl® D. Asuyyl-ifs
........... is used in vulcanization of Rubber.

A S B. C

C. Al D. N

R04Re1| dGset1PRUel Ui ......... ol GUd ALY B.

A S B. C
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15.

.

16.

1.

17.

10.

18.

1C.

19.

1c.

20.

0,

21.

SAR

22.

.

23.

C. Al D. N
Fire point of good lubricant should be

A.  Moderate B. High
C. Low D. Zero
URL S MSSL0g ......... €lq FoA.

A UHIRIYR B. Gy
C. ey D. s
The potential of standard electrode hydrogen electrode is .......... volt
A. 100 B. O

C. 50 D. 25
YHL[RLd eleysluel Ydoil Ul2(1ud ... dle2 eld 8.
A. 100 B. O

C. 50 D. 25
There are .......... types of polymerization.

A 1 B. 2

C. 4 D. 6
Wgtsdlell USIR ... 8.

A 1 B. 2

C 4 D. 6

......... polymer is affected by temperature.
A.  Thermoplastic
C. A&BBoth

B Thermosetting

D.
........... WEH25 UR dlUHlelsil MU A B

B.

D

None of these

A dluyery dluzelid

C. A&B®A RICIRNERVNE |
Polyethylene is formed by

A.  Vulcanization B. Condensation polymerization
C.  Addition polymerization D. Galvanization
ulasefldld ........ LR 8.

A, d&ellH2Ued B.  ¥elelol (St Sl
C.  Yieilaugtesdl D.  Jledaley(33o1Mi
Which of following is not used as elastomer?

A. Neoprene B. Buna-S

C. PVC D. Buna-N

oAt (Hiell 56 04 <12f].?

A olAle B.  Gsll-S

C. PVC D.  Oqil-N

Viscosity decreases with ....... of Temperature

A. Increase B. Decrease

C. Remain same D. None of all
dlUMletel ... A1 Retdtdl Ee 8.

A dylrl B. &2lsl

C. &R Udl el D.  AsUnlifs

pH + pOH =

A. 14 B. 7

C. 0 D. 10

pH + pOH =

A. 14 B. 7

C. O D. 10

Melamineis a ......... polymer

A.  Thermoplastic B. Thermosetting

C. A&BBoth D. None of these
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3.

24,

Y.

25.

Y.

26.

RS,

27.

0.

28.

L.

29.

.

30.

3o.

31.

31.

NG MIgel A ... weu2s 9.

A dluyety B.  dlurellfud
C. A&BW3 D.  wH(eflAs uwl <l
According faraday’s 1% law
AL maQ B. ZakE
C. A&B D. None of these
515 ol U (o yosoy
A. maQ B. ZakE
C. A&B D. A H(eflAs Ul «ife
H2 molecule possesses ......... covalent bonds.
A. 1 B. 2
C. 3 D. 4
Ha BQHL......... US{UwSs viy €1y 8.
A. 1 B. 2
C. 3 D. 4
Which of the following is not a factor affecting on rate of corrosion?
A. pH B. Temperature
C. Moisture D. Polymer
o{lAH ] &IRQIeL €2 ol WUR SR URWA <1,
A. pH B.  dlUHld
C. &% D.  »gues
Alum is
A.  Catalyst B. Coagulate
C. Mineral oil D. Electrode
sesslu ... 8.
A, GeElus B. ¥tS
C.  Ueilwadd D. [dtyd ya
Permanent hardness in water is caused by
A.  Ca(HCOs3) B. Mg(HCO3);
C. (CaSOs D. None of these
ULQfledl s1aHl s(8etdl ....... sRQ GeMd 8.
A.  Ca(HCO3); B.  Mg(HCO3),
C.  CaSOs D.  wHllAs Ul sifs
Which polymer used for making of Pipes?
A.  Orlon B. PVC
C.  Epoxy Resin D. Polythene
ULOU etlal HI2 UL ULEHR <1l GUAL LY 8.7
A W4l B. PVC
C. AUlelRAle D.  \ldleflel
1.0 x10+the value of
A. Kw B. Km
C. Kp D. Kt
............ o Y&| 1.0 x10+ 8.
A. Kw B. Km
C. Kp D. KL
Compound containing Double bond has ......... Hybridization.
A.  sp B. sp?
C. spd D.  None of these
(¢ oid tRldq AUlet ... 050 uRld 8.
A, sp B. sp?
C. sp’ D. Asugleel.
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...... has BCC arrangement.

A. Fe B. Cd

C. Al D. Au

.......... ol Y11 BCC E1Y B,

A. Fe B. Cd

C. Al D. Au

The mixture of oil and water is called..........

A.  Soap B. Mineral oil
C. Emulsion D. Grease
UIR(l ol A4 «ll MYl ........ 5& B.

A Ay B. Weflydd

C. Uiy D. Al»

Which resin is used in ion exchange process?

A.  Acidic B. Basic

C. A&B D. None of these
et [afeHy yed [dui sul 5]etetl GUALdL s 1d 87?
A WSS B. A[»s

C. A&B D.  wlefl x5yl sife
Unit of Viscosity is .......

A.  Pascal B. Poise

C. Ohm D. wolt
Retdtidldl AASH............. 2}

A, URs4 B.  Ulon

C. ey D. dle
Valency of carbon is ......

A. 1 B. 2

C. 3 D. 4

s10istef] AAwsdl ........ .

A. 1 B. 2

C. 3 D. 4

CnHaznis general formula of ........ series

A.  Alkyne B. Alkene

C. Alkane D. Aromatic
CoHn A........ Ao ULHIRA YA .

A, B[S B. lesld

C.  uGhq D. AAA2ls
pH of Acidic solution is

A. <7 B. =7

C. >7 D. 14

ARASS ¢lAQletlpH. e

A. <7 B. =

C. >7 D. 14

Which of the following is aliphatic compound?

A.  Methane B. Benzene

C. Phenol D. Benzoic acid
o{1s1l Hiell Y Nefl32ls uele] B2

A [MQe B.  Woofl

C. [sld D.  Weobles AAS
Which type of lubricants is Grease?

A. Solid B. Semi solid
C. Liquid D. Gaseous
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¥o.

41.

¥,

42.

R.

43.

¥3.

44,

Y.

45.

sy,

46.

¥S.

47.

0.

48.

¥C.

Al A UL USIRe S B?

A HoRRelss B. it tof :8S
C.  ydlslaes D. dlyralss
Unit of Specific Conductivity = ..............
A ohmlem? B. ohm.cm
C. Ohm D. mho
[cloI® dlesdl WsH = ...............
A ohmlem? B. ohm.cm
C. Ohm D. mho
Simple organic molecule which can form polymer by chemical bonding is
A. Dimer B. Trimer
C. Monomer D. Polymer
ALEl s16d(e15 2 B AAIAMLS vitel G121 WSS Wetld Aq ....... 5& B,
A SIBHR B. 2loHR
C. Asisl Wy HllHR) D. «gH’s
Molecule of P4 contain ......atoms
A. 4 B. 8
C. 1 D. 2
PaRL.. . URHIQ &R1d .
AL 4 B. 8
C. 1 D. 2
CsHsgis ...
A. Styrene B. Isoprene
C.  Chloroprene D. Ethane
CsHg A ...
A RIUTE B. oAl
C. selRlyled D. ©9d
pH=..........
A.  -log[H30] B. - log [OH]
C. -log[HsO* + OHT] D. None of these
pH=.......
A. -log[Hs0"] B. - log [OH]
C.  -log[HsO* OH] D. Asulsifs
.......... Metal is used in galvanizing.
A. Zn B. Tn
C. Sn D. Fe
Aol 18 [HIAUI ...... tld dU/UY B.
A, Zn B. Tn
C. Sn D. Fe
Buffer solution is the solution whose pH ..............
A. Increases B. Remains constant
C. Decreases D. None of these
W82 GlARLe] pH ............
A dg B.  uYURE
C. & D. A5yl
Polytetrafluoroethylene is known as...........
A. PVC B. PTF
C. PVCD D. PTFE
ullaeelsalRloedldle ......... ol AUlw1y B.
A. PVC B. PTF
C. PVCD D. PTFE
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49,

se.

50.

51.

EAR

52.

Y.

53.

3.

54,

uy.

55.

uy,

56.

Us.

S7.

Which of the following is not a type of lubricant?

A.  Solid lubricants B. Semi solid lubricants
C.  Liquid lubricants D.  Gaseous lubricants
ol Aot | HIgfl 5U) S Sell USIR <18l ?

A delRass B.  wHysalss

C. ydlel ees D. dIyaes

The process of addition of electron is called.........

A.  Redox B. Oxidation

C. Reduction D. Corrosion
8a521e1 GURAlAl UlsUlA ......... 58 8.

A 38l B.  A[suS2le

C. (RSS2l D. &Rkl

The substance used to stick two different surfaces firmly are called
A.  Elastomers B. Fibers

C. Adhesives D. Metal

A YULEla Hosoyd 31d Alegl HI2 duldl Uelel.... 588,

A WR B. 3l

C.  Uyofluelel D. dld

......... show carboxylic acid group

A. -CHO B. -COOH

C. -OH D. -COOR

......... sloll(3(as WS £21dd.

A. -CHO B. -COOH

C. -OH D. -COOR

Corrosion increases with ......... in pH

A. Increase B. Decrease

C. remains same D. None of these

pH ... edi &3l dd 8.

A.  dydl B. &cdl

C.  AsARESD. D. Asyglael.
Which of the following is not a method to express concentration?
A.  Mole fraction B. Molarity

C.  Normality D.  Millilitre

o[ Aeil H1efl 58 Usg(d GIRL ¢lARL ofl AUigll o Hiuel U % ol El?

A Yl 39l B. HldlRal
C.  UUHLQLdL D. [Hdl (@er

Which is the symbol of Hydrogen bond?

A - B. ...

c. = D.

S1O1oel vitef] AL 58 B2

A - B. ...

c. = D. :

Standard Atmospheric Temperature is ......... oC

A. 100 B. 25

C. 50 D. 10

..... 0 C dluHlel 3 YHL[Cld dluHlet 8.

A. 100 B. 25

C. 50 D. 10

Which of the following is not natural Adhesive material?
A.  Starch paste B. Vegetable Glue
C. Animal glue D. Epoxyresin
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Yo.

58.

Yc.

59.

Y.

60.

0.

61.

21

62.

%R.

63.

3.

64.

S¥.

65.

sy,

oAt M el sy gecilino{Tue el ?

A IR B.  dei(doedjeR
C. ulgleuder D. AUt
Which of the following is a type of corrosion?

A.  Direct corrosion B. Temperature
C. A&B D. None of These
o{[Auefl ellRBleAl USIR 5y B2

A, Hlyelrw B. dluild

C. A&B D. WsuRlsifs
Which of the following is Alkane?

A, CoHe B. CHy=CH;,

C. GCeHe D. Allof these
o|Astl Hiell Ry w1CEe B2

A.  CoHe B. CHy=CH;,

C. CeHs D. (BUAsdwyl
Which method is used for Softening of water?

A. lon exchange B. Soda-lime

C. Permutit D. Allof these
(86Ul At H G L H I S8 [ddURIAD?

A WRe(afAny B. Alsaleu

C. uHleye D.  ldoit]

-M-M-M-M-M- is ....... Polymers.

A.  Linear polymers B. Branched polymers
C. A&Bboth D. None of these
-M-M-M-M-M-3............ WeH2s9.

A u{lusisues B. quu{lumgues
C. A&BW3A D.  sloullifs.
1F=inn. Coulombs

A. 96.5 B. 9650

C. 96500 D. 965000

1F= . §€od

A.  96.5 B. 9650

C. 96500 D. 965000

Which of the following symbol is used to show first orbit of an atom?
A. L B. K

C. M D. s

UHIRL ol ued] setl Hi2 8 dletl dludIHi 2419 8?

A L B. K

C. ™M D. s

What is the pH of 0.01 M HClI solution?

A. 4 B. 3

c. 2 D. 1

0.01 M HCl sl ¢ldBls{] 526 82

A 4 B. 3

C. 2 D. 1

............. is used for measurement of viscosity.

A. Red wood Viscometer B. Voltmeter

C. Pensky marten D. Borometer
.................. ol Gldl [Reldtdl Hiudl 1y 8.

A RS [aslleR B. dlegHleR
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66.

<%,

67.

0.

68.

%C.

69.

SC.

70.

9o.

(@)

C.  UoRlslHIEle D.  olRlHlerR

............. is an aromatic compound?

A.  Methane B. Ethane

C. Benzene D. Ethyne

........... A ARANELs A%t B

A (1 B. ©8d

C.  Wooflel D. ol

........ Is method for prevention of corrosion?

A.  Galvanizing B. Metal cladding

C.  Metal spraying D. Allof these

................ A &1L Aeslddledl uex(d 8.

A Aedelg 5l B. Nedsq[3al

C.  dldeesld D.  du]

............. Is used as anode in Electrochemical cell.

A.  Zn B. Cu

C. Mg D. H2

[eyd AAIU(CRLS SINUi ....... o1l GUALIL Aedls dIZ Ay 8.

A. Zn B. Cu

C. Mg D. H2

What is reduction?

A.  Gaining of electrons B. Losing of electrons

C. Itcan either gain or lose D. None of above
electrons

ss2Uet 424 9j?

A, 9452ld ol Hdd] B. 9asilela dHlddl

C.  9ds2lel ol Aoddl Hed] D.  GUell YLl As Ul «iel
JH1I4d]

......... corrosion is observed in Boiler.

A.  Water-line B. Pitting

C. Crevice D. Atmospheric

WlBER Hi ........ &1L %l HA B,

Ao ulgllel qulll «{1 ag B. [ufdal

C. dsHiag D.  dlddRwuell eg,

*hkkkhkkhkkkhhkkkikhkkkikk
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